# 2017 International Tuition Fees









#### **KEY**

Number of Sessions: **Minimum number** of sessions to complete the course

Intake: S1 = Autumn Session (February); S2 = Spring Session (July)

Fees: Tuition fees shown in **Australian Dollars** per session

Tuition fees are reviewed annually: fees payable are dependent on the year of commencement and are subject to increase during the period of study. The indicative total course tuition fee shown is an estimate based on normal course length and progression, and the current tuition fee.

Dean's Scholar and Advanced degrees with the same duration as the related standard degree have not been listed separately as they have the same fee per session. Only Advanced degrees with a different duration to the standard degree have been listed separately below.

For further details of Dean's Scholars and Advanced programs available, including intakes and mode of delivery, search on UOW CourseFinder - coursefinder.uow.edu.au

#### **UNDERGRADUATE COURSEWORK DEGREES**

Business	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Business	6	S1 & S2	\$13,224	\$79.344
Bachelor of Commerce	6	S1 & S2	\$13.224	\$79.344
Bachelor of Commerce (Hospitality, Events, Travel and Tourism)	6	S1	\$13,224	\$79.344
Bachelor of Economics and Finance	6	S1 & S2	\$13.224	\$79.344

Engineering and Information Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Business Information Systems	6	S1 & S2	\$14,832	\$88.992
Bachelor of Computer Science	6	S1 & S2	\$14,832	\$88,992
Bachelor of Engineering Honours (Double Major)	10	S1 & S2	\$16,200	\$162,000
Bachelor of Engineering Honours (Single Major)	8	S1 & S2	\$16,200	\$129,600
Bachelor of Information Technology	6	S1 & S2	\$14,832	\$88,992
Bachelor of Mathematics	6	S1 & S2	\$14,832	\$88,992
Bachelor of Mathematics Advanced	6	S1 & S2	\$14,832	\$88,992
Bachelor of Mathematics and Finance Honours	8	S1 & S2	\$14,832	\$118,656
Bachelor of Medical and Radiation Physics	6	S1 & S2	\$16,200	\$97.200
Bachelor of Medical and Radiation Physics Advanced Honours	8	S1 & S2	\$16,200	\$129,600
Bachelor of Medical Mathematics	6	S1 & S2	\$14,832	\$88,992
Bachelor of Science Advanced Honours (Physics)	8	S1 & S2	\$16,200	\$129,600
Bachelor of Science > Materials, Nuclear Science & Technology, Physics	6	S1 & S2	\$16,200	\$97,200

Law, Humanities and the Arts	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Arts	6	S1 & S2	\$11,928	\$71,568
Bachelor of Communication & Media Studies	6	S1 & S2	\$12,264	\$73.584
Bachelor of Creative Arts	6	S1	\$11,928	\$71,568
Bachelor of Digital Media	6	S1	\$11,928	\$71,568
Bachelor of International Studies	6	S1 & S2	\$11,928	\$71,568
Bachelor of Journalism	6	S1	\$11,928	\$71,568
Bachelor of Laws (Graduates only)*	6	S1	\$16,140	\$96,840
Bachelor of Laws^	8	S1	\$15,333	\$122,664
Bachelor of Performance	6	S1	\$11,928	\$71,568
Bachelor of Politics, Philosophy and Economics	6	S1 & S2	\$11,928	\$71,568

Science, Medicine and Health	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Bionanotechnology (Honours)	8	S1	\$14.520	\$116,160
Bachelor of Conservation Biology (Honours)	8	S1	\$14,520	\$116,160
Bachelor of Environmental Science (Honours)	8	S1	\$14,520	\$116,160
Bachelor of Exercise Science	6	S1	\$14,328	\$85,968
Bachelor of Exercise Science and Rehabilitation	8	S1	\$14,520	\$116,160
Bachelor of Health Science (Indigenous Health)	6	S1 & S2	\$13,584	\$81,504
Bachelor of Marine Science	6	S1	\$14,328	\$85,968
Bachelor of Marine Science (Honours)	8	S1 & S2	\$14,520	\$116,160
Bachelor of Medical & Health Sciences	6	S1	\$14,328	\$85,968
Bachelor of Medical & Health Sciences Advanced (Honours)	8	S1	\$14,520	\$116,160
Bachelor of Medical Biotechnology (Honours)	8	S1	\$14,520	\$116,160
Bachelor of Medicinal Chemistry (Honours)	8	S1	\$14,520	\$116,160
Doctor of Medicine (MD)^	8	S1^	\$28,080	\$224,640
Bachelor of Nursing	6	S1	\$13,776	\$82,656
Bachelor of Nursing (Conversion)	1-3	S1 & S2	\$13,584	
Bachelor of Nursing Advanced	8	S1	\$13,776	\$110,208
Bachelor of Nursing for Overseas Qualified Nurses	4	S1	\$13,776	\$55,104
Bachelor of Nutrition & Dietetics (Honours)	8	S1	\$14,520	\$116,160
Bachelor of Nutrition Science	6	S1	\$14,328	\$85,968
Bachelor of Pre-Medicine, Science and Health	6	S1	\$14,520	\$87,120
Bachelor of Science > Bionanotechnology or Geology	6	S1 & S2	\$14.376	\$86,256
Bachelor of Science > Biological Sciences, Chemistry, Conservation Biology, Environment, Medical Biotechnology, Medicinal Chemistry or Physical geography & Environmental Geosciences	6	S1	\$14.376	\$86.256
Bachelor of Science (Honours)	8	S1 & S2	\$14.520	\$116,160
International Bachelor of Science	6	S1	\$14,328	\$85,968
International Bachelor of Science (Honours)	8	S1	\$14,520	\$116,160

<sup>^</sup> Course commences 23 January 2017.

Social Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Arts (Psychology)	6	S1 & S2	\$14,400	\$86,400
Bachelor of Education - The Early Years	8	S1	\$11,928	\$95,424
Bachelor of Health & Physical Education	8	S1	\$11,928	\$95,424
Bachelor of Mathematics Education	8	S1	\$11,928	\$95,424
Bachelor of Primary Education	8	S1	\$11,928	\$95,424
Bachelor of Psychological Science	6	S1 & S2	\$14.400	\$86,400
Bachelor of Psychology (Honours)	8	S1	\$14,400	\$115,200
Bachelor of Public Health	6	S1	\$14,424	\$86,544
Bachelor of Public Health Nutrition	6	S1	\$14,424	\$86.544
"Bachelor of Science > Human Geography, Land & Heritage Management"	6	S1 & S2	\$14,520	\$87,120
Bachelor of Science Education	8	S1	\$11,928	\$95,424
Bachelor of Social Science	6	S1 & S2	\$11,928	\$71,568
Bachelor of Social Science (Psychology)	6	S1	\$14.400	\$86,400
Bachelor of Social Work	8	S1	\$11,928	\$95,424

## **KEY**

Number of Sessions or Trimesters: Minimum number of sessions or trimesters to complete the course

Intake: S1 = Autumn Session (February); S2 = Spring Session (July)

T1 = Trimester 1 (February); T2 = Trimester 2 (May); T3 = Trimester 3 (August)

Fees: Tuition fees shown in **Australian Dollars** per session or trimester

## **POSTGRADUATE COURSEWORK DEGREES**

Business	NUMBER OF TRIMESTERS	INTAKE	FEE PER TRIMESTER (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Applied Finance	1	T1, T3	\$13,800	\$13,800
Graduate Certificate in Business	1	T1, T2, T3	\$13,800	\$13,800
Graduate Certificate in Professional Accounting	1	T1, T3	\$13,800	\$13,800
Master of Applied Finance (Double Specialisation)	6	T1, T3	\$10,350	\$55,200
Master of Applied Finance (Single Specialisation)	4	T1, T3	\$10,350	\$41,400
Master of Business (Double Specialisation)	6	T1, T2, T3	\$10,350	\$55,200
Master of Business (Single Specialisation)	4	T1, T2, T3	\$10,350	\$41,400
Master of Business Administration	4	T1, T2, T3	\$13,176	\$52,704
Master of Business Administration Advanced	6	T1, T2, T3	\$13,176	\$70,272
Master of Professional Accounting	4	T1, T3	\$10,350	\$41,400
Master of Professional Accounting Advanced	6	T1, T3	\$10,350	\$55,200
Master of Science (Supply Chain Management and Project Management)	6	T1, T2, T3	\$10,350	\$55,200
Master of Science (Supply Chain Management or Project Management)	4	T1, T2, T3	\$10,350	\$41,400

<sup>&</sup>quot;Fees shown for Masters degrees for the Sydney Business School are based on a normal load of 3 subjects per trimester.

The fee for the Graduate Certificate is based on a normal load of 4 subjects per trimester."

Engineering and Information Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Engineering Asset Management	1	S1 & S2	\$16,200	\$16,200
Graduate Certificate in Rolling Stock Engineering	1	S1 & S2	\$16,200	\$16,200
Master of Computer Science	4	S1 & S2	\$14,832	\$59,328
Master of Engineering	4	S1 & S2	\$16,200	\$64,800
Master of Engineering Asset Management	2	S1 & S2	\$16,200	\$32,400
Master of Engineering Management	2	S1 & S2	\$16,200	\$32,400
Master of Financial Mathematics	4	S1 & S2	\$14,832	\$59,328
Master of Health Informatics	4	S1 & S2	\$14,832	\$59,328
Master of Information and Communication Technology Advanced	4	S1 & S2	\$14,832	\$59,328
Master of Information Technology	4	S1 & S2	\$14,832	\$59,328
Master of Information Technology Management	3	S1 & S2	\$14,832	\$44,496
Master of Mathematics	4	S1 & S2	\$14,832	\$59,328
Master of Rolling Stock Engineering	2	S1 & S2	\$16,200	\$32,400
Master of Science (Medical Radiation Physics)	4	S1 & S2	\$16,824	\$67,296
Master of Statistics	4	S1 & S2	\$14,832	\$59,328

Law, Humanities and the Arts	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Laws (Criminal Practice)	1	S1 & S2	\$15,888	\$15,888
Graduate Certificate in Maritime Studies	1	S1 & S2	\$13,104	\$13,104
Master of Fisheries Policy	2	S1 & S2	\$13,104	\$26,208
Master of International Studies	3	S1 & S2	\$11,712	\$35,136
Master of International Studies Advanced	4	S1 & S2	\$11,712	\$46,848
Master of Laws (Criminal Practice)	2	S1 & S2	\$15,888	\$31,776
Master of Maritime Policy	2	S1 & S2	\$13,104	\$26,208
Master of Maritime Studies	2	S1 & S2	\$13,104	\$26,208

Science, Medicine and Health	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Dementia Care	1	S1 & S2	\$13,560	\$13,560
Graduate Certificate in Gerontology and Rehabilitation Studies	1	S1 & S2	\$13,560	\$13,560
Graduate Certificate in Indigenous Health	1	S1 & S2	\$13,368	\$13,368
Graduate Certificate in Medical Education	1	S1 & S2	\$16,152	\$16,152
Graduate Certificate in Nursing	1	S1 & S2	\$13,368	\$13,368
Graduate Certificate in Science	1	S1 & S2	\$14.208	\$14,208
Graduate Certificate in Spatial Science	1	S1 & S2	\$14.424	\$14,424
Graduate Diploma in Mental Health Nursing	2	S1 & S2	\$13.560	\$27,120
International Graduate Certificate in Science	1	S1 & S2	\$14.208	\$14,208
International Graduate Diploma in Science	2	S1 & S2	\$14.208	\$28.416
International Master of Science	4	S1 & S2	\$14.208	\$56,832
Master of Clinical Exercise Physiology	3	S1	\$14.424	\$43,272
Master of Health Leadership and Management	3	S1 & S2	\$13.560	\$40,680
Master of Indigenous Health	3	S1 & S2	\$13,368	\$40,104
Master of Nursing	3	S1 & S2	\$13,368	\$40,104
Master of Nursing (Mental Health)	3	S1 & S2	\$13.560	\$40,680
Master of Nursing International	4	S1 & S2	\$13.560	\$54.240
Master of Nutrition and Dietetics	4	S1	\$14.424	\$57,696
Master of Science and Management	4	S1 & S2	\$14,208	\$56,832
"Master of Science > Biotechnology, Chemistry, Earth & Environmental Sciences, Environmental Biology, Medicinal Chemistry"	3	S1 & S2	\$14,208	\$42,624
"Master of Science > Dementia Care, Gerontology & Rehabilitation Studies"	3	S1 & S2	\$13,560	\$40,680

Social Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Health & Physical Education	1	S1^	\$11,808	\$11,808
Graduate Certificate in Health promotion	1	S1 & S2	\$14.256	\$14,256
Graduate Certificate in Public Health	1	S1 & S2	\$14,256	\$14,256
Graduate Certificate in Tertiary Teaching & Learning Practices	1	S1	\$11,808	\$11,808
Graduate Certificate in TESOL	1	S1 & S2	\$11,808	\$11,808
Graduate Diploma in Adult and Vocational Education	2	S1 & S2	\$11,808	\$23,616
Graduate Diploma in TESOL	2	S1 & S2	\$11,808	\$23,616
Graduate Diploma in Work Health & Safety	2	S1	\$14.256	\$28.512
Master of Education	3	S1 & S2	\$11,808	\$35,424
Master of Education Advanced	4	S1 & S2	\$11,808	\$47.232
Master of Psychology (Clinical)	4	S1	\$14,256	\$57,024

Social Sciences (Continued)	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Public Health	3	S1 & S2	\$14,256	\$42,768
Master of Public Health Advanced	4	S1 & S2	\$14,256	\$57,024
Master of Special Education	2	S1 & S2	\$11,808	\$23,616
Master of Teaching (Primary)	4	S1	\$10,416	\$41,664
Master of Teaching (Secondary) *	4	S1	\$10,416	\$41,664
Master of Work Health & Safety	3	S1	\$14,256	\$42,768
Master of Work Health and Safety Advanced	4	S1	\$14,256	\$57,024

# **POSTGRADUATE RESEARCH DEGREES**

The following indicates the fees, duration and normal intakes for  $\,$ Higher Degree Research programs offered by each faculty

Please search on the UOW Course Finder for details of specific study areas available in each course -coursefinder.uow.edu.au

Business	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Research	4	S1 & S2	\$13,992	\$55,968
Doctor of Philosophy	8	S1 & S2	\$13.992	\$111,936
Doctor of Philosophy Integrated	8	T1 & S2	\$13.992	\$111,936
Master of Philosophy	4	S1 & S2	\$13,992	\$55,968

Engineering nd Information Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Research	4	S1 & S2	\$17,448	\$69,792
ENGINEERING, PHYSICS, MEDICAL RADIATION PHYSICS				
Doctor of Philosophy	8	S1 & S2	\$17.448	\$139,584
Doctor of Philosophy Integrated	8	S1 & S2	\$17.448	\$139,584
Master of Philosophy	4	S1 & S2	\$17.448	\$69,792
COMPUTER SCIENCE, INFORMATION SYSTEMS, INFORMATION	TECHNOLOGY, MATHEM	IATICS, STAT	ISTICS	
Doctor of Philosophy	8	S1 & S2	\$14,832	\$118,656
Doctor of Philosophy Integrated	8	S1 & S2	\$14,832	\$118,656
Master of Philosophy	4	S1 & S2	\$14,832	\$59,328

<sup>^</sup> course commences 3 January 2017
\* Additional fees apply if more than two teaching methods taken.

Law, Humanities and the Arts	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Research	4	S1 & S2	\$12,456	\$49.824
ARTS, CREATIVE ARTS				
Doctor of Creative Arts	8	S1 & S2	\$12,456	\$99,648
Doctor of Philosophy	8	S1 & S2	\$12,456	\$99,648
Doctor of Philosophy Integrated	8	S1 & S2	\$12,456	\$99,648
Master of Philosophy	4	S1 & S2	\$12,456	\$49,824
LAW, MARITIME STUDIES				
Doctor of Philosophy	8	S1 & S2	\$14,016	\$112,128
Doctor of Philosophy Integrated	8	S1 & S2	\$14.016	\$112,128
Master of Philosophy	4	S1 & S2	\$14,016	\$56,064

Science, Medicine and Health	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Research	4	S1 & S2	\$16,104	\$64,416
HEALTH AND MEDICAL				
Doctor of Philosophy	8	S1 & S2	\$15,504	\$124,032
Doctor of Philosophy Integrated	8	S1 & S2	\$15,504	\$124,032
Master of Philosophy	4	S1 & S2	\$15,504	\$62,016
SCIENCES				
Doctor of Philosophy	8	S1 & S2	\$16,104	\$128,832
Doctor of Philosophy Integrated	8	S1 & S2	\$16,104	\$128,832
Master of Philosophy (Lab Based)	4	S1 & S2	\$16,512	\$66,048
Master of Philosophy (Non-Lab Based)	4	S1 & S2	\$16,104	\$64.416

NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
4	S1 & S2	\$15,504	\$62,016
8	S1 & S2	\$12,432	\$99,456
8	S1 & S2	\$12,432	\$99,456
8	S1 & S2	\$12,432	\$99,456
4	S1 & S2	\$12,432	\$49.728
8	S1 & S2	\$15,504	\$124,032
8	S1 & S2	\$15,504	\$124,032
4	S1 & S2	\$15,504	\$62,016
8	S1	\$15,504	\$124,032
EALTH & SAFETY			
8	S1 & S2	\$15,504	\$124,032
8	S1 & S2	\$15,504	\$124,032
4	S1 & S2	\$15,504	\$62,016
8	S1 & S2	\$15,504	\$124,032
	8 8 8 4 8 8 8 4 8 8 8 4 8 8 8 4 8 8 8 4 8 8 8 4 4 8 8 8 4 4 8 8 8 4 4 8 8 8 4 4 8 8 8 4 4 8 8 8 8 4 8 8 8 8 4	8 S1 & S2 4 S1 & S2 8 S1 & S2 4 S1 & S2 8 S1 & S2	SESSIONS         SESSION (\$AUD)           4         \$1 & \$2         \$15.504           8         \$1 & \$2         \$12.432           8         \$1 & \$2         \$12.432           8         \$1 & \$2         \$12.432           4         \$1 & \$2         \$15.504           8         \$1 & \$2         \$15.504           8         \$1 & \$2         \$15.504           4         \$1 & \$2         \$15.504           8         \$1         \$15.504           8         \$1         \$15.504           EALTH & SAFETY         8         \$1         \$2         \$15.504           8         \$1 & \$2         \$15.504         \$15.504         \$15.504         \$15.504           8         \$1 & \$2         \$15.504 </td

The University of Wollongong attempts to ensure the information contained in this publication is correct at the time of production (October 2016); however, sections may be amended without notice by the University in response to changing circumstances or for any other reason. Check with the University for any updated information. UNIVERSITY OF WOLLONGONG CRICOS: 00102E